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General Instructions : 

Preparatory Course in Mathematics (OMT-101) 	Questions 1-50. 

(i) All questions are compulsory. 

(ii) The Question Paper consists of 50 questions each of which carries one mark. 

(iii) Each question has four alternatives one of which is correct. Write the Si. No. of 

your correct alternatives/ answers below the corresponding question number in the 

answer sheet and then mark the rectangle for the same number in that column. If 

you find that none of the given alternatives is correct then write 0 and mark in 

column 0. 

(iv) Do not waste time in reading the whole question paper. Go on solving questions 

one by one. You may come back to the left out questions, if you have time at the 

end. 

(v) Use of calculators is not allowed. 

?-11441.-ti fqFT: 

114-11-ti 11 uld 1;irtriM LIICktiShg 311.7421..-101 ) 	31V9' 1-50 

(i)   3Tra-Tzi t 

-1 	1 14 50 	 Ifq9.4 TOIW 	1.(t) 31* tl 

-5A-T 	- Trr2T -uit 	 fay t  	t i thit liFRWFf PRsql1TH1( T-re 371/rolchC4-11 -r 

	

AT font 3t-113 	t 3.11-4ff 	dkil 1,1044 4 RI 	ri 	rq 3TTcf Lii(r rch 	%ft 

Trt 	 -d10 fffd 3 *Trig 0 14 	0111 - 1 

(iv) .  -i1. 	-A -wrzr .q-qk Tru 	 -k .qg 	9.-r 	.TTR 	 TriTzr 

-979)' T4TTT ttql 	 t 

(v) -971-1-3-r ch(4 chl 3T-Irrrd 
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1. The price of a table is Rs. 25 more than double the price of a chair. If the total price of 2 chairs 
and 3 tables is Rs. 975, then the price of a table is : 

(1) 	Rs. 250 	(2) 	Rs. 200 	(3) 	Rs. 150 	(4) 	Rs. 112.50 

2. If _IX > x , then x could be : 

(1) 0 (3) (4) 42  

3. Suganda's earning is Rs. 20,000. She spend 85% of it, it means she saves : 

(1) 	Rs. 15 
	

(2) 	Rs. 3000 	(3) 	Rs. 5000 	(4) 	Rs. 8500 

1 
4. From a piece of 20 metres long cloth, a piece of length 133 meters is cut. How much cloth is 

left ? 

(1) 6i meters 	(2) 7-
3 

meters 	(3) 6-23  meters 	(4) 7-
3 

meters 

5. What will be the area of a table top which is in the rectangular form having 2.009 m length 
and 0.9 m width ? 

(1) 18081 m2 	(2) 1.8081 m2 	(3) 18.081 m2 	(4) 2.081 m2  

6. 	Which one of the following is greater than 2 ? 

8 	 19 	 100 	 16 
(1) 19 	(2) —8 	 (3) 101 	

(4) 

1 
7. If one is subtracted from the numerator and denominator of a fraction its value becomes 2. 

2 
If 5 is added to both numerator and denominator, its value becomes 3. Then the fraction 

is : 

	

2 	 4 

	

(1) 3 	 (2) ,- 
7 

(3) 	13 
9 

(4) --13 

OMT-101 	 4 



8. 	Which one of the following statements is not true ? 

(1) Every integer is a rational number 
(2) There exists a positive number which is not a natural number 

(3) Every rational number is an integer 

(4) All prime numbers are not odd numbers 

9. 	If 10 kg of vegetable cost Rs. 1001.00, then 1 kg of vegetable costs : 
(1) 	Rs. 10.10 	(2) 	Rs. 100.10 	(3) 	Rs. 101.00 

	
(4) 	Rs. 10.01 

10. Which one of the following is correct ? 

2 	2 	 1 
(1) 	—

7 
and —

9 
are like fractions 	(2) 	3-

3 
is an improper fraction 

7 	 2 
(3) 	—

1 
is a unit fraction 	 (4) 	—

7 
is a proper fraction 

11. The smallest composite number is : 
(1) 0 	 (2) 1 

	
(3) 2 	 (4) 4 

12. Euclid based his geometry upon : 

(1) 5 assumptions 	 (2) 3 assumptions 

(3) 4 assumptions 	 (4) 8 assumptions 

13. Which of the following does not represent a solution of the equation 2x — 5y + 9=0 ? 
(1) x= —2, y =1 
	

(2) x =3, y = 3 

(3) x= —12, y= —3 
	

(4) x =7, y= —1 

14. The 20th term of the arithmetic progression 2, 7, 12, 	 is. 
(1) 102 	 (2) 90 

	
(3) 21 	 (4) 97 

15. Approximate value of (1.01)5  up to 5 decimal places is : 
(1) 1.050101 	(2) 1.00511 	(3) 1.05101 

	
(4) 1.05001 

16. 	— J3) x(J + fri) = 

(1) 2 	 (2) 16 
	

(3) 0 	 (4) 8 
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(1) 	247.00779 (2) 247.07709 (3) 247.07079 

The value of 0! +1! is : 

(1) 	0 (2) 1 (3) 2 

(4) 247.70079 

(4) is not defined 

20. Approximate value of (3.01)5  up to 5 decimal place is : 

21.  

(1) 	745 (2) 750 (3) 755 

– 5x + 15x = 

(1) 	20x (2) 20x2  (3) 10 

24. 

(4) 760 

17. There are 10 books on Algebra available in my library. The number of ways in which I can 

borrow 3 books is : 

(1) 30 	 (2) 720 	 (3) 27 	 (4) 120 

18. The common ratio of a G.P. obtained by taking the terms of the G.P. 

1 1 1 1 	1 
1, 	2 ' 4 ' 	8 ' 16 
	32  in reverse order is : 

1 
(1) –2 	 (2) (3) 2 	 (4) 	– 2 

	

2 	3 

	

19. The sum of first five terms of A.P. 1– 
5 	5 

	

4, 6 – 		 is. 

79 
	

59 
	

59 
(1) 33 
	

(2) 
	

(3) —2 
	 (4) 

22. Which of the following equations has 5 as a solution ? 

(1) x –5 =3 	(2) 3+x=8 	(3) 3 – x =8 	(4) 4x +1 =2 

23. The sum of the first ten terms of the AP 8, 23, 38, 	 is. 

25. The distance between the points (5, –1) and (1, 4) is : 

(1) 5 	 (2) J41 	 (3) 6 	 (4) 130 

OMT-101 	 6 



26. Which of the following is not true ? 
(1) A theorem is a statement which can be proved by means of other statements or known 

facts. 
(2) A theorem has a hypothesis and a conclusion. 
(3) The conclusion of the theorem follows logically from hypothesis. 
(4) Theorems are some basic rules which are consistent and sufficient and development of 

the subject depends upon them. 

27. Which of the following alphabets has neither reflection symmetry nor rotational symmetry ? 
(1) A 	 (2) B 	 (3) H 	 (4) F 

28. Which of the following is n6t a conicoid ? 
(1) ellipsoid 	(2) paraboloid 	(3) hyperboloid (4) cone 

29. Which of the following is not true ? 
(1) All the sides of a regular polygon are equal. 
(2) All the angles of a regular polygon are equal. 
(3) Sum of angles of a regular polygon is 360°. 
(4) All the vertices of a regular polygon to on a circle. 

30. If the surface area of a cube is equal to that of a cuboid of length 12 cm, breadth 8 cm and 
height 6 cm then the edge of the cube is of length : 

(1) 3 -./2-  cm 	(2) 6 cm 	(3) 3 cm 	(4) 6 'If cm 

31. Tiling is called regular tiling if it is done by using : 
(1) regular polygons of the same shape and size. 
(2) non-regular polygons of the same shape and size. 
(3) non-regular polygons of different shapes and sizes. 
(4) mixture of regular polygons of different sizes. 

32. If volume of a cube is 125 cu.m then its surface area is : 
(1) 125 sq.m. 	(2) 	150 sq.m. 	(3) 	25 sq.m. 

33. If AB =5, BC= 6 and AC=11 then : 

(1) Points A, B, C are non-collinear and non-coplanar. 
(2) Points A, B, C are collinear. 

(3) Points A, B, C are non-coplanar. 
(4) Points A, B, C are coplanar but not collinear. 

(4) 100 sq.m. 
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34. Fill in the blank : 

ABC with ZA = 30°, ZB = 60°, ZC = 90°, is a 	 triangle. 
(1) 	iosceles 	(2) 	right angled 	(3) 	obtuse angled 	(4) 	equilateral 

35. The number of lines of symmetry in an equilateral triangle is : 
(1) 0 	 (2) 1 

	
(3) 2 	 (4) 3 

36. The distance between the two points (2, 3) and (1, 4) is : 

(1) 2 
	

(2) 56 	 ../10 	 (4) 

37. In a regular polyhedron : 
(1) 	All angles and sides are equal. 	(2) 	All angles and sides are unequal. 

(3) 	Only all angles are equal. 	(4) 	Only all sides are equal. 

38. Two distinct lines in a plane either intersect or : 

(1) 
	

are collinear 
	

(2) 	are parallel 

(3) 
	are vertical 
	

(4) 	are at right angles 

39. if Sheela paid Rs. 880 as simple interest for 2 years at 11% per annum for a loan by her. 
What was the amount borrowed by her ? 
(1) 	Rs. 176 	(2) 	Rs. 1076 	(3) 	Rs. 4000 	(4) 	Rs. 4880 

40. Let A and B he two mutually exclusive events such that P(A) =0.3 and P(B) =0.7. Then 
P(AL/B) — 
CO 0.21 	 (2) 1.0 	 (3) 0.3 	 (4) .0 

41. The standard deviation of the data : 
3, 5, 2, 6, 5, 9, 5, 2, 8, 5 is 

(1) -\/48 	 (2) ,/4.8 
	

(3) 4.8 	 (4) 

42. The figure below gives the blood types of 10,000 Army Inductees 

AB B  
7 

28% 

0 
 

3
, 

6% 
AB 

 20% 

The number of army inductees with Blood group 0 is : 

(1) 3600 	 (2) 36 	 (3) 100 (4) 1000 

0MT-101 
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43. A shopkeeper charges Rs. 350 as sales tax on the sales of Rs. 5,000. If she charges Rs. 435.05 

as sales tax, then her sales is : 

(1) 	Rs. 6,000 	(2) 	Rs. 5,125 	(3) 	Rs. 6,215 	(4) 	Rs. 5,435 

44. When three fair coins are tossed, the probability of getting at least one tail is ? 

1 
	

5 
	

7 
(1) 
	

(2) 	8 	 (3) 	8 
	 (4) 	8  

45. A bag contains 12 balls of which x are red, 2x are white and 3x are blue, where x is a positive 

integer. A ball is selected randomly. The probability of its being not white is : 

1 	 1 	 2 	 1 
(1) -6- 	 (2) 	 (3) 	 (4) 2 

46. If you deposit a sum of Rs. 6700 in a bank on 1st March, 2008 at 4.5% per annum simple 

interest, the interest you will get up to 24th July 2008 will be : 

(1) 	Rs. 100.50 	(2) 	Rs. 60.30 	(3) 	Rs. 155.75 	(4) 	Rs. 120.60 

47. An article was purchased for Rs. 400 and sold for Rs. 500. Then the percentage of profit on 

the article is : 

(1) 10 	 (2) 25 	 (3) 75 	 (4) 20 

48. The data in a grouped frequency distribution table can be represented by : 

(1) frequency polygon 	 (2) pictograph 

(3) cartograph 	 (4) pie chart 

49. Two events A and B of a same sample space are said to be independent if : 

(1) P(A U B) = P(A) + P(B) 
	

(2) P(A U B) = 1 — P(A)P(B) 

(3) P(A B) = P(A)P(B) 
	

(4) P(A (1 B) = P(A) P(B) 

50. The mode of the data 18, 21, 22, 15, 12, 16 : 

(1) 	does not exist 	(2) 	is 18 
	

(3) 	is 16 	 (4) 	is 17 
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2. 	> x 	x 	: 

(1) 0 (3) 

1. 	ch 	TT11 	A 2-,  T. 31NT t I zit 2T-Rtzff 3-17 3 	chi TF iFf 975 T. 

7i1,11 : 

(1) 	250 T. 	(2) 	200 T. 	(3) 

3. 	-Jaw 	3-TRT 20,000 T. t I c4Tq--1 85% T§1-  cht 

(1) 	15 T. 	 (2) 	3000 T. 	(3) 

150 T. (4) 112.50 T. 

4 (4) 42  

c1 t i t : 

5000 T. (4) 8500 T. 

1 
4. 	20 AZT 	Wcrt  	13i 1-11e.( -ffTzTT c1151 chid fF-41 	t I trf -Wcr4- c  

(3) 632  th-a-T (4) 7 3- ITIZT 

Dfq3 --1.ch-0 cHI 6411? 

(3) 18.081 m2  (4) 2.081 m2  

100 16 
(3)  

(4) 
101 

1) 	6  3 	(2) 	7 Iffa7 

2.009 m 	.ff9-TT 0.9 m 	3fIldlchR 

(1) 	18081 m2 	(2) 	1.8081 m2  

6. 	•-t4-1 ocf 11 Oq 	fort 	4-11-f 2 A 3Tfirw t? 

8 	 19 
(1) —19 	 (2) 8 

7. 	zi-f 	-) f9451  	*Ill A '1' 	AR, 	4-11-1 
2 
 't Akir t 1 	4.-{ 34T 

5,15 	
3 
	,11c11 t I c-101 f 	X1 41 : 

2 
(1) 	 (2) 

7 
(3) 	13 

9 
(4) 
	13 
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8. 	rii-iroR.Icr -# 	g72.1-9c Wit  ? 

(1) (-1. 1 	 t 

(2) %1-9.  (lisqf chf 	t 	5T-frd-  (-49-11 	t 

(3) 15A-T 1(1744 .4s'qT Tuft 	 

(4) 	T19.-fl.  341-ft 	, -1ti611 -fq-ts1T1 

9. 	:1-fq 10 kg 	chi 	r1001.00T.tI1kg Tr--  chl 171 +If : 

(1) 	10.10 T. 	(2) 	100.10 T. 	(3) 	101.00 T. 	(4) 	10.01 T. 

10. r-o-1146d 	? 

2 	. 2  	 1 	 
(1) 	— c=1 — 

7 	9 	
(2) 	3-

3 
to.) 	t 

41-0 
7  	 2 	 

(3) —1  ci-) 	f`1 	 (4) 	—
7 	

-) 6r-id fi—rg t 

11. 	L-9-a171 4̀4T- f 	: 

(1) 0 
	

(2) 1 
	

(3) 2 	 (4) 4 

12. 	 : 

(1) 5 TONT7TFE3 1"-TT 
	

(2) 3 -0417111TA 

(3) 4 lt4`NItullA Tt 
	

(4) 8 	917 Tat 117 

13.rci d 14. 	.-11-11chtul 2x — 5y + 9 = 0 a-d err let? 
(1) x= —2, y =1 
	

(2) x =3, y=3 

(3) x= —12, y= —3 
	

(4) x =7, y= —1 

chi 20 t I t•-14-11c-R 	1ruit 2, 7, 12, 

(1) 102 (2) 	90 (3) 21 (4) 97 

41-4 q14-1(14 341i (1.01)5  chi ,1*1->d 4-11-f : 

(1) 1.050101 (2) 	1.00511 (3) 1.05101 (4) 1.05001 
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16. 

17. 

( 	- 	3) x 	+ 	= 

(1) 	2 	 (2) 	16 (3) 

I 	tTi-1 

0 (4) 8 

4 3 'jTit oir,3inluid t 10 1F:fft 

: 

 	-1): 	# 4 .74 

t-Ichcq 	chi .#-Cq:{1 

(1) 	30 (2) 720 (3) 27 (4) 120 

18. 
1 	1 1 

- 
1 	1 	 

- 	̀n1 WT1 - -trft 1, 	- - -F-- 7g4 74 7F-d 7-1)--ff{ Tri4 cnr w 4-11,-q 3Trrd 2 

t : 

8 16 	32 

1 
(1) (2) - 

2 (3) 2 (4) - 2 

2 	3 
19. 15 
	

4 	6 ---- 	 
' 	5 

7*-■ : 

79  59 59 
(1) 	33 (2) 

2 (3)  —2 
(4) 5  

20. 5 qq11-ic-ici 	TcF (3.01r chi ti ?Iche. 	111-1 	: 

(1) 	247.00779 (2) 247.07709 (3) 247.07079 (4) 247.70079 

21. 0!+1!*141-It : 

(1) 	0 (2) 1 (3) 2 (4) qionfErd 

22. 14-foRlrf if 74 f4---{4 1-4 	5t? 

(1) 	x -5 =3 (2) 3+x=8 (3) 3 - x (4) 4x+1=2  

23. ‘irlft 8, 23, 38,  	tr -crf ct)f tr1 : 

(1) 	745 (2) 750 (3) 755 (4) 760 

24. - 5x + 15x -= 

(1) 	20x (2) 20x2  (3) 10 (4) 10x 

OMT-101 	 12 



25.  -1):3-41,& (1, f3(5, .k 4) ,-411 

(1) 	5 (2) ,F4-1 

26.  F-HIrcirucr TFT t ? 

(1)  -514zT 	t41 99 t fv 3Tr 

(2)  714-zt t.  A 

(3)  -914zi *1 f1ti da gRI 4R01-)c'4-11 

(4)  T'rzi tt4 3-11q710 

t- 

f9-z11:1 t •31) 

: 

(3) 6 	 (4) V30 

Tfr 71Id a 	3119TT ITT 311-Elf-ff *1 	TE*- 1 

t.  I 

I1t4T 	-srrcu   t 

72TT uhf 	f 	f 	ITT fa-*-74 31RITtd QcIf 

27. r-i 4--IrriFtgq 311 -4 4f--*-44 	t 9, t Tri9 	 

(1) A 	 (2) B 
	

(3) H 	 (4) F 

28. 	-1 4-1 	t_qd 	\Tf 	 

(1)  -q-1=4177 	(2) (-kcic-lq,f 	(3) 

29. 	F-1 4-1 Fri 	cf 	TIT 	21-9.  Tf- T 

(1) i  Fiq 	Hcf 	m1 Triff   6)ti 	 * I 

(2) Wh  r-iir+-icf v4VA7 	7:1 	f oRIGR 	 t I 

(3) k* F-14-4-1c-1 	TE 9-11. 	chi -11 4 I 360° 	-)cif t 

(4) -q1-114 	-97 #21-ff 	t' I 

30. zit f*---4- vi 	1)ta .)--i-r+7• 12cm 	8cm -c1151 3 6 cm .;)-c4Ii .k 	 wimt 

t 	IFT 	: 

(1) 3-12 cm 	(2) 6 cm 	(3) 3 cm 	(4) 6-i2 cm 

31. 	dIC1 C1'11 1->1. -q-r-wq-r en-1 4-4:r 	c.1.4 f cIGE 	 t \TN 7-*-).  (14114 a, 17F-----zrr 	: 

(1) -c3--• 	31-r-t-fff da 	 l' chi . ,-{q.'1 4 r f--*-74-r AN I 

(2) Ic=h 	3Trffa. 	i T177 t 3-7P4 	347:1)7f*-7T \AR I 

(3) f-lf*1 3-11-frff 	aNf 	3P1-11. 	uhf3FIITT f*-TifT \11R I 

(4) fdiW 	TIT1 	 figrdl mt ri 411,11 	I 
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32. Tlfq f*-41   3-1171-di 125 qi 1:ftZTcal 	chi E 	rt t : 

(1) 	125 a4 -1,4-7d:T 	(2) 	150 a4 	(3) 	25 ci 4 i 	(4) 	loo 	 

33. zit AB =5, BC =6 74 AC=11 al : 

A, B, C 3-7:kUTzi  	t` I 

f4"--1 A, B,Crt'i 

f-a-  A, B, C 3-1711:1T-4r7 t I 

fq--1 A, B, C 	t 771 4t_J-14 

34. ft -4u T-2.fr-ll' 	-cft 	: 

AABC -f- 1-*-1 LA =30°, LB =60° 2.TT LC=90° t 	fq9I-7 ti 

(1) 	.-11-1 gal 	(2) 	ul 	(3) 	3Tfq-*-- tcrT 	(4) 	711T-47 

35. 71-17q7 r1 	9p ti AriAci 1T3- 111 	 t : 

(1) 0 	 (2) 1 
	

(3) 2 	 (4) 3 

36. t -F-4--13ff (2, 3) 317 (1, 4) 	ci-; 	t : 

(1) 2 	 (2) V56 
	

(3) V10 	 (4) If 

37. 4-Icf c44hrich (polyhedron) 14 : 

(1) 	74111- - Thui 	atlas 6141 tI 	(2) 	Rift   chl 	t I 

(3) 	 (4) 	 91--qr ao,“ 	t. 1 

38. 1cfi fiHc1c1 	41 0." 1 crcrT 	q-;) 	̀Tr( : 

(1) k-IW14 	 (2)t{+11-tit 

(3) 	61k-11 t- 	 (4) 	14-Ich)uf 

39. Trfq #-.T -4 	-4Tfisi-T 4t 7{ 2 014 4 880 T. 74TWITT 	 7Tr4 	fORTI 2TT ? 

(1) 	176 T. 	(2) 	1076 T. 	(3) 4000 T. 	(4) 4880 T. 
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40.  t Ne.-11("t P(A) = 0.3 3*P(B) = 0.7 ff4P(AuB)= 179 ci 	A 3*B 311rd-Al 

(1) 	0.21 (2) 	1.0 (3) 0.3 (4) 0 

41.  -1 iRi tgci 3-4* 1-11-14) 	̀1-  10.1t : 

3, 5, 2, 6, 5, 9, 5, 2, 8, 5 

(1) 	J48 (2) 	N/4.8 (3) 4.8 (4) 

42.  -c1114 10,000 TWT 3I 1R t 

 

0 TWF 	 ch (-RN t : 

(1) 3600 	(2) 36 (3) 100 	 (4) 1000 

43. qchilqi( 5,000 T. chi W1:17 350 T. f 	511:d Wcd .  tI qrq  	ct)( 435.05 T. ITTIU 

t 	f 	X1,1 : 

(1) 	6,000 T. 	(2) 	5,125 T. (3) 	6,215 T. 	(4) 	5,435 T. 

44. •71 ,1 3 -fIlscRi f 	3-01--  Ala f, clef ch 44- 4-  ch 44 	1 crZamt chl MIN* 	I : 

3 	 1 
(1) 	-A- 	 (2) 

5 
(3)  

7 
(4) 

45. 1-) ,r 1412 	x   t, 2x ;R Trk-q t 3417 3x -110-1 	x 1m  4ffro=r 111:TiTtLwr *1 	, 

'415 --gym tc\I-f -4 TR Aid) t I 	7:47   cril MIRIchc-11 t : 

1 	 1 	 2 	 1 
(1) 	 (2) 3 	 (3) 3 	 (4) 
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46.  34111 	1 	ri1 	TI1 -4 2008 	6700 T. -4-T 	sTiHr 	 4.5% -Mf'sk-  'qTql-TuT 011•11 

120.60 T. 

24 

(1) 

I  I 	2008 	3114117-11 	 t1711 : 

100.50 T. 	(2) 	60.30 T. 	(3) 	155.75 T. 	(4) 

47.  ITT -q.114-{ -51fT4M 11' 400 T. if 	?-t1-1: 500 T. 14 ti-4-1.  4Iqf I 	(101 3.1 t : 

(1) 10 	 (2) 	25 	 () 	75 	 (4) 20 

48.  c3iRciRcif 	ARit 	rc,. 	3-1- 	c4 	F-R,FAcr f 	T -qr iichdr* : 

(1) 011.&ciRdT 	gRi 	 (2) 	r-c1711c•4t4 gm 

(3) A19-fq-q 	 (4) 

49.  -TW -T4 A •cr4 B 	d-tr-f9.4 c-14 	Q1R4i1 	: 

(1) P(A U B) = P(A) + P(B) 	 (2) 	P(A U B) =1 — P(A)P(B) 

(3) P(A n B) = P(A)P(B) 	 (4) 	P(A n B) = P(A) 	P(B) 

50.  3-1' 18, 21, 22, 15, 12, 16 Ill IV* : 

(1) -161 	 (2) 18 
	

(3) 16 	 (4) 17 

A 

OVi F-101 	 16 
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